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I # Al Al =“R v B =2 =
EHREATL
e T & i EABRTE k3 1
I T A ELYN i 46
2KFIAE 15GE A k@ 27.903
2QGEA k@ 37. 357
WEAE k@ 65. 260
2HEIFLE L m 0. 700
wEL m 2.297
MWEL m 2.340
HHIFLE m 5.337
(EEHE 2R 1AR4Y
1XGEANE Q 607. 00
QRGEAE Q 812.00
BIfLE (REfEL) m 0. 700
" (MEL) m 2.297
" (higt) m 2.340
" (& & m 5.337
THE m 1.437
1A Y IR 7 5. 46
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—EEXRML—FIE (EHEAR)
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x| %I EAE BITLE + o
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B RS | 1EA | 22EA | EA it | BEL | Bt | &% | Y [IREA|2%EA| E
@ [TsEN| (1) | (1) | (1)

(m) (m) (m) (m) (m) (m) | CkI)

[1EX]) & AOLGESR 46 | 138.57 607 812 1419] 3.900] 0.7001 2.297( 2.340

Ckl) [ Ckl) | (&/8)
5.337] 1.437] 27.903| 37.357| 65.260 5. 46

I = 46 138. 57 607 812 1419 3.900f 0.700] 2.297| 2.340{ 5.337( 1.437( 27.903| 37.357| 65.260 5. 46
& =t 46 138. 57 607 812 1419 3.900f 0.700] 2.297| 2.340{ 5.337( 1.437( 27.903| 37.357| 65.260 5. 46
Ey (1&ERHY) (&IKR1ER) 607.0|  812.0| 1,419.0] 3.900f 0.700| 2.297| 2.340| 5.337| 1.437| 27.903| 37.357| 65.260 5. 46




ERIAL [ —EEXRL—F—TIi% #HHEKX ]

[ & | [EX] £ OFLES |
1. % #
HIfLE AR THE FEAEE | EARE
T & N f& 1 0 11 12 A n Bor. No
(m) (m) (m) (m) (X)
- 0~4
it yers 0. 700 5700
0~10 0.900
MEL 10~30 2.297 1.397
30LLE
10~50 0.903
N
MWt S0LLE 2.340 Hi6
& &t 5.337 3.900 1.437 45. 850 46 Bor. No. 1
2. GEAE = I
GIEEINN s or A | LR EEEM) | 2R (REEM) | 1R BEEM) [ 2R BREEHM)
t® | N = o [EMRER| EAE iE | EAR —
(%) o (%) (%) (%) (%) i
B+ P B LV ~fi 0~4 70 40 28.0 28.0 1
Fli~#or|  4~8 60 40 24.0 12.0 12.0 1 1.0
%0y 0~10 45 90 40.5 16.2 24.3 1 1.5
wE+ thfi 10~30 45 90 40.5 11.6 28.9 1 2.5
otz 0L E 35 90 31.5 1.0 24.5 3.5
PR+ BB ~df|  10~50 40 90 36.0 24.0 12.0 : 0.5
d hfi~#of| 50LLE 35 90 31.5 12. 6 18.9 : 1.5
MCEALLEL TEMDEE TRKEARZESHER SEEH P.181 &Y
3. FAEQHE - -
EAER AR METE EINES A2 VKD [ 1x5YFAs Qkl)
* B N & (m) (m) (m3) TR (BRFEHM) | 2R (RREEHM) | 1R (BRFEM) | 2R (BREEM) | 1R (BREEHM) | 2R (BRFEH)
@ @ B=Dx2 @ ® ®=Rx@D=R@xB| ®=n @=n
B+ 0~4 28.00
4~8 45. 850 0. 700 32. 095 2.00 12. 00 3. 851 3. 851 0. 084 0.084
0~10 45. 850 0.900 41. 265 6.20 24. 30 6. 685 10. 027 0.145 0.218
mEL 10~30 45. 850 1.397 64. 052 1.60 28.90 7.430 18.511 0. 162 0. 402
0Lk 7.00 24.50
B+ 10~50 45. 850 0.903 41. 403 24.00 12. 00 9.937 4.968 0.216 0.108
d 50Ll kB 12. 60 18.90
& &t 3. 900 178. 815 27.903 37.357 0. 607 0.812
£ & 65. 260 [ESED) 1.419
4. 1TARBYBIFEFR (Ts)
() B EERT (T 1)
T1 = 14.00 |min
() BIFLEER (T 2)
T2= Z(r1x10)
= 4.0 x 0.700 + 50 x 2.297 + 8.0 x 2.340 = 33.01  min
r1: BLIESOHIFOEREEER Min/m
| +8 | st | mEt+ | ¥t |
1 [ 80 [ 50 | 40 |
10: Z+1BEEOHIAE (M
Q)EARRM (T 3)
T3= Qs qgs
= 1419 / 16 = 88.69 min
Qs: ZEERAML—F—IED1ARLYZEAZ ()
as: HBEBEZBYIEAE (/min)
| gs | 16 [ o/min |
(4) L3 Y 513REER (T 4)
T4a= y2x12
= 2 X 1.437 = 2.87 min
y2: THYSHROEREZEERM (Min/m)
L_r2 | 2 [ min/m_]
12: THYE (m
1AL Y TR 5 = 138.57 min
4. 1THEYBIARHE (N)
N= (O0OXHX2)/T5
= 60 x 6.3 x 2 ) / 138.57 = 5.46 &

N: 2y M1 EBHYBIARE (K/A8)
H: EARIED 1 B Y REFXERET6. 3REE T S,
T5: 1AL YBIERE (min)
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e T & i EABRTE k3 2

I T A ELYN i 33

2KFIAE 15GE A k@ 23.484

2QGEA k@ 37.132

WEAE k@ 60. 616

2HEIFLE L m 9.200

wEL m 6. 500

MWEL m 2.500

HHIFLE m 18. 200

(EEHE 2R 1AR4Y

1XGEANE Q 633. 50

QRGEAE Q 1,053.00

BIfLE (REfEL) m 4.600

" (MEL) m 3.250

" (higt) m 1.250

" (& & m 9.100

THE m 3.250

1A Y IR 7 4.53




“EBERAML—FIE (EHARX)

sH e e *h = £ £
ERIAIBEEETE
Hﬁ 1 2'-( % l’) %I % ﬁﬁ 1
T PN gt
* T FAE HIFLE x e
1 Al o FAR - " - U
B R | 1TRGEA | 20GEA | #5FEA FhEL | MEL | WL | &5 v 1HGEA [ 22GEAN B
E)[TsE) | LY [ ) [ 1) (m) (m) (m) (m) (m) (m) | CklD) [ CkED) | Ckl) [ (&/8)
[{EX] ZinflERd 22 195. 34 867 1272 2139 7.600f 4.600f 3.250/ 1.250| 9.100] 1.500] 19.078| 27.961| 47.039 3.87
[1EX] il 1 145.78 400 834 1234] 4.100] 4.600] 3.250[ 1.250( 9.100( 5.000( 4.406( 9.171| 13.577 5.19
I = 33 341.12 1267 2106 3373 11.700f 9.200f 6.500] 2.500| 18.200] 6.500] 23.484| 37.132| 60.616 9.06
& =t 33 341.12 1267 2106 3373 11.700f 9.200f 6.500] 2.500| 18.200] 6.500| 23.484| 37.132| 60.616 9.06
Ey (1&ERHY) (&IR2EERT) 633.5| 1,053.0| 1,686.5| 5.850| 4.600| 3.250| 1.250| 9.100[ 3.250| 11.742| 18.566| 30.308 4.53




ERIAL [ —EEXRL—F—TIi% #HHEKX ]

[ & | [EX] sZHAIED |
1. % #
HIfLE AR THE FEAEE | EARE
T & N f& 1 0 11 12 A n Bor. No
(m) (m) (m) (m) (X)
- 0~4
L 1~3 4.600 2700
0~10
MEL 10~30 3.250
30LL E 3.250
10~50 1. 250
N
MWt S0LLE 1. 250 EX
& &t 9.100 7. 600 1.500 21.210 22 Bor. No. 3
2. GEAE = I
GIEEINN s or A | LR EEEM) | 2R (REEM) | 1R BEEM) [ 2R BREEHM)
t® | N = o [EMRER| EAE iE | EAR —
(%) o (%) (%) (%) (%) i
B+ P B LV ~fi 0~4 70 40 28.0 28.0 1
Fli~#or|  4~8 60 40 24.0 12.0 12.0 1 1.0
%0y 0~10 45 90 40.5 16.2 24.3 1 1.5
wE+ thfi 10~30 45 90 40.5 11.6 28.9 1 2.5
otz 0L E 35 90 31.5 1.0 24.5 3.5
PR+ BB ~df|  10~50 40 90 36.0 24.0 12.0 : 0.5
d hfi~#of| 50LLE 35 90 31.5 12. 6 18.9 : 1.5
MCEALLEL TEMDEE TRKEARZESHER SEEH P.181 &Y
3. FAEQHE - -
EAER AR METE EINES A2 VKD [ 1x5YFAs Qkl)
* B N & (m) (m) (m3) TR (BRFEHM) | 2R (RREEHM) | 1R (BRFEM) | 2R (BREEM) | 1R (BREEHM) | 2R (BRFEH)
@ @ B=Dx2 @ ® ®=Rx@D=R@xB| ®=n @=n
B+ 0~4 28.00
4~8 21.210 3.100 65. 751 2.00 12. 00 7.890 7.890 0. 359 0. 359
0~10 6.20 24. 30
mEL 10~30 1.60 28.90
0Lk 21.210 3.250 68. 933 7.00 24.50 4.825 16. 889 0.219 0. 768
Rt 10~50 21.210 1. 250 26.513 24.00 12. 00 6. 363 3.182 0.289 0.145
d 50Ll kB 12. 60 18.90
& &t 7. 600 161.197 19.078 27.961 0.867 1.272
£ & 47.039 [ESED) 2.139
4. 1TARBYBIFEFR (Ts)
() B EERT (T 1)
T1 = 14.00 |min
() BIFLEER (T 2)
T2= Z(r1x10)
= 4.0 x 4600 + 50 x 3.250 + 8.0 x 1. 250 = 44.65 min
r1: BLIESOHIFOEREEER Min/m
| +8 | st | mEt+ | ¥t |
1 [ 80 [ 50 | 40 |
10: Z+1BEEOHIAE (M
Q)EARRM (T 3)
T3= Qs qgs
= 2139 / 16 = 133.69 min
Qs: ZEERAML—F—IED1ARLYZEAZ ()
as: HBEBEZBYIEAE (/min)
L_as | 16 [ O/min_|
(4) L3 Y 513REER (T 4)
T4a= y2x12
= 2 X 1.500 = 3.00 min
y2: THYSHROEREZEERM (Min/m)
L_r2 | 2 [ min/m_]
12: THYE (m
1AL Y TR 5 = 195.34  min
4. 1THEYBIARHE (N)
N= (O0OXHX2)/T5
= 60 x 6.3 x 2 ) / 195. 34 = 3.87 &

N: 2y M1 EBHYBIARE (K/A8)
H: EARIED 1 B Y REFXERET6. 3REE T S,
T5: 1AL YBIERE (min)




ERIAL [ —EEXRL—F—TIi% #HHEKX ]

e & | (EX] “H AR |
1. % #
ETERS EAR IHE | TAEE | EAAK
+ B N {& 10 11 |1 2 A n Bor. No
— (m) (m) (m) (m) &)
Hhtt yers 4.600
0~10
BEL 10~30 3.250
30LLE 3. 250
N 10~50 0. 850
gt SOBLE 1.250 -
& &t 9.100 4100 5_000 10. 210 11 Bor.No. 3
2. FAE = I
ABE | mrm] 3 am LR GEH) | 2K (Etain) | 1R (eath) | 2R (sail)
+ " N " ; EAEFREl IAE T AR T AE N
(%) a (%) (%) (%) (%) -
et |PoL~FEl  0~4 70 40 28.0 28.0 1
Hli~for]  4~8 60 40 24.0 12.0 12.0 1 1.0
BEIR 0~10 45 90 40.5 16.2 24.3 1 1.5
BEL L 10~30 15 90 40.5 11.6 28.9 1 2.5
ot 30LLE 35 90 31.5 7.0 24.5 3.5
piet |[PaL~BE[ 10~50 40 90 36.0 24.0 12.0 : 0.5
- Sfi~#o7-] HOLLE 35 90 31.5 12.6 18.9 : 1.5
NCEALLERDE FROLFEE FKERRITBESHE SZ&M P.18] &Y
3. ZAEBDHE
IAEE | IAR | IRIE I FAE VKD [IAZUIAE QKD
+ & N fE (m) (m) (m3)  [TR BEEEH) | 2R GRREH | 1R BREH) | 2R (BAEH) | TR BRRH) | 2R GERH)
— @ @ @=Dx@ ?s@oo ® ®=0x@|@=Q@x®| ®=n @=+n
WL 4~8 2.00 12.00
0~10 6. 20 24.30
BEL 10~30 1.60 28.90
30LLE 10. 210 3. 250 33.183 7.00 24.50 2.323 8.130 0. 211 0.739
Bt 10~50 10. 210 0. 850 8.679 24.00 12.00 2.083 1.041 0. 189 0.095
- 50LLE 12. 60 18.90
& &t 4100 41.862 4.406 9171 0. 400 0.834
S 13.67] ALY 1.234

4. TXRLBYETIHRE (Ts)
(D e EfERErE (T 1)
. = @ Jnin
@ RIFLEER (T 2)

T2= Z(rix10)
= 40 x 4600 + 50 x 3.250 + 80 x 1.250 = 44.65 min

r1: ZHIEEOHIAOEMFERM (nin/m

[f& [ @t | wat | wEt |
1 [ 80 | 50 | 40 |

10: HLIHEBOHIFLE )
@) EARER (T 3)

T3= Qs qgs

= 1234 Ve 16 = 77.13  min
Qs: ZEERAML—F—IED1ARLYZEAZ ()
gs: HBEUREZYIAE (I/min)
| gs | 16 [ o/min |

) L4 Y 514REERE (T 4)

T4= yry2x12

= 2 x 5. 000 = 10.00 min
y2: THYSHROELEEER (min/m)
L_r2 | 2 [ _min/m ]
12: THUYE m
1AL YEITERE 5 = 145.78 min
4. 1TEHYBRTAH (N)
N= (60XHx2)/T5
= ( 60 x 6.3 x 2 ) s 145.78 = 5.19 K

N: 2y M1 EBHYBIARE (K/A8)
H: EARIED 1 B Y REFXERET6. 3REE T S,
T5: 1AL YBIERE (min)
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I & B oAl | B O mOE
EBREIAL

e T &R EINETRiE &1z 1

M T AR EXLT ZN 54

SR IAE T2 REAE ke 13. 986

1XEAE ke 20. 791

2IEAE ke 29.107

WIAE ke 49. 898

REIAE ML m 17.086

WEL m 3.250

(2 e m 1.250

#HElIFLE m 21. 586

(SEHE 2F1 KLY

J59REAE 0 259.00

1XEAE 0 385.00

2IEANE 0 539.00

HIFLE (WEL) m 17.086

" (BETL) m 3.250

" (Rbig L) m 1.250

" (& &b m 21. 586

THHYBIARE Bl x/H 2.54

IBEYBEIARE 1XFA |&/8 22.23

TIBEYBEIARE 22KFA |&/8 19. 34




ERIAIRERHE SEES TNy H—Tik
i 1ok % 0y B B BIAE 1 B2 BT AR
I . .
AR HIFLE + [y ] 1 | 2 % | 2
A ol K AR Rl A B I T TE ) IR s
BEAR oA @sE A ittt | wE:|wes| e | oy |FAE[EA | CEA N | EA

E L))y f m | m) | (m) | (m) [ (m) [ (m) [CkID)JCkED)]CkED)|CKE)[&/B)|@&/B)| */B)
17.086( 3.250| 1.250(21.586)17.686( 13.986|20. 791(29.107| 49. 898( 2.54|22.23]19.34

[1EX] Z:EimOfHEER 54 259 385 539 924 3.900

I\ =t 54 259 385 539 924| 3.900(17.086| 3.250| 1.250|21.586| 17.686( 13.986] 20. 791 29. 107| 49. 898 2.54]22.23(19. 34
& &t 54 259 385 539 924| 3.900(17.086| 3.250| 1.250|21.586| 17.686| 13.986] 20. 791 29. 107| 49. 898 2.54]22.23(19. 34

17.686] 13.986( 20.791| 29.107| 49.898( 2.54( 22.23| 19.34

Y (1ERHY) 18| 259.0] 385.0| 539.0[ 924.0[ 3.900| 17.086| 3.250| 1.250| 21.586




ERIAL [ —EEXTILNN\yvAh— I ]

[ & | [EX] ZEHORES |
1. % #
HIfLE EAE ITHE | TAEE | EASK
T & N f& 10 11 | 2 n Bor. No
— (m) (m) (m) (nf) (&)
FhtEL 1~3 17.086 5900
N 0~30
BEL 0LLE 3.250
" 0~50
Bigt SOLLE 1.250 EX
& &t 21,586 3.900 17.686 53.310 54 Bor. No. 3
2 RAR S RE R
DI EN S| o Am TRFEA | 2RFA
t = N & o |[EMERE| EAR TR
(%) o (%) (%) (%) (%)
gifet DAL ~mEl  0~4 70 10 28.0 10.0 18.0
hhi~@of|  4~8 60 40 24.0 10.0 14.0
wEL [Peu~Eil 0~10 45 90 40.5 5.0 35.5
- dhi~@of-| 30LLE 35 90 31.5 5.0 26.5
patr [Peu~EE[  0~50 40 90 36.0 10.0 26.0
- tfi~#o7-] HOLLE 35 90 31.5 10.0 21.5
MCEALLEE TER2EE TKEREZEESHKR SEEH P.19) KU
3. FAEQHE
IAEE | IAR | ARIE EAE FTAE VKD [IABUIAE QKD
+ & N B (n) (m) (m3)  [TREAM[2KEIAM| TREXN | 2KFA | 1REA | 2KEA
©) @ @=Dx@ @ ® ®=@x@D=@x®| ®=n @=n
e 0~4 10.0 18.0
4~8 53.310 3.900 207. 909 10.0 14.0 20. 791 29.107 0. 385 0. 539
BEL 0~10 5.0 35.5
30LLE 50 26.5
n 10~50 10.0 26.0
BRE Sopr 0.0 2.5
& i 3.900 207.909 20791 29.107 0. 385 0.539
FS 49.808 1A% Y 0.924
59 FEAR (1RHY)
VG= r3x10
= 120 o/m x  21.586 0.259 k@
0.259  kQ/& x 54 PN 13.986 kQ (21k)
4. 1TARZBYHIFEIRRM (TD)
() BEmem (T 1)
T1= [ 1400 Jmin
) HIFLEFRE (T 2)
T2= X(r1x10)
= 30 x 17086 + 5.0 x 3.250 + 6.0 x 1.250 = 75.01  min
ri: BLEEOHIFLOBEGEXEERE (min/m)
10: RBIBFEQHIALE ()
[ &8 | #Et [ #&EL [ #HEL
1 [ 60 | 50 | 30
Q) EAEHERER (T 3)
Ta= y2xl|
= 30 21.586 = 64.76  min
r2: :I:#BiU?I#N)iLM’F;%B#Faﬁ (min/m)
[ ry2 1 3.0 | min/m_|
TD= 153.77 min
5. 1ASY 1 /GEAMEIRR (Tp1)
1)%&&&1?*5#@ (T1)
[ 13.00 ]min
) 12Fé| YSEAERI (T 2)
T2=Qp1/qp1l
= 385.019 / 8.0 = 48.13  min
L_Qptl | 8.0 | 9/min_ |
B) 1 ARZY L4 YSI3REFR (T 3)
T3=y3x12
= 1.0 x 17.686 = 17.69  min
| ry3 | 1.0 | min/m |
Tp1= 78.82 min
6. 1AHY2/TAMIME (Tp2)
1)#%&-%?*5#!%5 (T1)
[ 13.00 ]min
) mcé. USEABERA (T 2)
T2=Qp2/qgp2
= 539.019 / 9.0 = 59.89  min
[CQpl T 90 T o/mn |
@)1 ARZY LY SI3REER (T 3)
T3=7r3x12
= 1.0 X 17.686 = 17.69  min
[ 73 T 10 [ min/m_]
Tp2= 90.58 min
7. 1THHYBIAREK (N)
Al L N= 60 x H(1’E¥B#Faﬁ)/ TD x1 (v k)
=60 x (65 | 153.77 x 1 = 2.54 &/8
1%GEA N= 60 x H(1’F$B‘!fﬁ§)/Tp1X4 (v k)
=60 x (13 | ~ 78.82 x 4 = 22.23  X/B
2HEAN N= 60 x H(1’F$B‘!fﬁ§)/Tp1X4 (Ey k)
=60 x (13 | 90. 58 x 4 = 19.34  X/8




